Microeconomics (Skill Development Exercise)



Conditions of  minimization of a function.

a) Set first derivative = 0

b) Solve critical values

c) Put above calculated critical values in second derivative of the function which to be minimized, and accept that value where second derivative >0

Minimize the following AC cost functions. Also calculate minimum of AC.

AC = 3x3-36x2+135x-13

AC = 2X4-16x3+32x2+5

Minimize the Cost of the firm C = 5x2 +2xy +3y2 +800

Subject to output constraint: x + y = 39

If cost function is given 

C = 10K + 50 L

While production function of the given output is Q = 10LK = 1250

Find the value of Labor and Capital where cost is minimized.

Find the critical values for minimizing the cost of the firm producing two goods x and y when the total cost function is C = 8x2 –xy +12 y2   and firm is bound by a contract to produce a minimum combination of goods totaling 42, that is subject to the constraint x + y = 42

Define economies of scale, diseconomies of scale, and constant returns to scale

Consider the following table of long- run total cost for three different firms

	Quantity

	
	1
	2
	3
	4
	5
	6
	7

	Firm A
	$60
	70
	80
	90
	100
	110
	120

	Firm B
	11
	24
	39
	56
	75
	96
	119

	Firm C
	21
	34
	49
	66
	85
	106
	129


Graph cost curves of three firms, and explain which firm are experiencing economies of scale and which diseconomies of scale
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